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{5 [368 is between which two tens? __ The Wuddletown Forest is a rectang A tered the annual kite |Alexs kite has 6 equal-sized sections. Two parts are

714 is between which two tens? ___ Three-eighths of the forest is Razzl lest number of |green, one part is blue, and three parts are orange.

. Draw a model of the forest shading S Write the unit fraction that represents each color.
Round the the nearest ten. is Razzleberry trees. ren that could

368 ____ = ___ ! green=___ blue=___  orange=___

ORA. 30ADE
A Whizzleburr free is 24 feet tall. A Lollyvolly tree is 6 feet tall. How many times f t, Joel counted an equal number of blue, green, and orange kites. He counted 18
than the Lollyvolly tree? Draw a model, write the equation, and solve. 5 ] bind 9 kites during the af ternoon session. How many kites did he count of each

Equation
q of each color
Answer tif

of PowerAde to drink | _
7kt They brought a totd ™
liters does each
o4 solve.

?|circle the quadrilateral

NETA A { y INBTAZ

fExplain why 6 x 70 ,5342% : IMr. Planter wants to have the largest piece of cake | Draw base ten blocks to solve. Label the number line using fourths. How many
lhe can. Should he slice his cake info thirds or 316 - 129 fractions are greater than 12 __

fourths? Which would result in a larger piece? : 1

Explain. \ > I ——

TOADE TOADE
A 0) |Jacob wants to eat 28 servings of protein each week. He eats 4 servings each day. After 3 days, how many servings | 4 ) [Bryce uses 12 four leaf clovers to make a necklace and 6 four leaf clovers to make a bracelet. How many four leat
of protein does Jacob have left to eat in order to meet his goal? Draw a model, write the equation and solve. > lovers does he use if he makes 8 necklaces and 11 bracelets? Write the equation and solve.

[Equation

Equation T S
> 5 >
Answer ____ more servings of profein |Answer
5> IGAT 3MDCT - 3GAT 3MDB4
N - Think of 2 different ways you can put shapes info groups.  [The floor plan of one room of the Planters peanut % § | Ashley says the following shape is a rectangle because it Record the following data on the line plot below.
et v Label each group below and draw 3 examples for each factory is shown below. What is the area? . B has 2 pairs of sides that are the same length. Why is she Weight of Leprechaun Pots (in pounds)
5 |group. Equation Answer b 5 | incorrect? What type of quadrilateral is this shape? LLINGIN2N 2L 2N 4326233 2N2

o, [Group #1 90 feet

[Equation

Answer
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éj About This Resource ]D"

-Use as a spiraling daily review of math skils.

-Remind students 1o label equations.

-YOU can use as morning work, center work, partner work, or homework.

-Each day includes one question £rom each math domain =4 questions daily = 25
questions aweek.

-This resource includes 4 weeks.
-You can use the cover page and create a monthly packet for each chid.
-You can copy 2 pages on a single sheet 1o save paper

-Instead of making copies, you can display each day on the board, and students can
use dry erase bodrds or paper.

-Use The editable version To ediT The standards and/or The propiems.

-The problems included in This resource are meant To be chalenging and require
students 1o Think atT a deeper level and apply mathematical concepts. As students
complete The daiy reviews, The reviews wil become easier £or students To complete
as their mathematical Thinking improves.

-A checklist is included To record your students' results.

% © 2012 2 Brainy Apples @-&
Revised 2015



520 sz

STandards Reviewed- March

: OAA3
NFA2 | INBTAT | OAAH Vo
NFA3Z | NBTA2| (OABS | v’
— INBTA3 OABG \ngy
GAl OACZ T MDCB
GAZ DS MDC7
DA 'Mppa







=
P

Name

s, 1368 is between which two tens?
714 is between which two tens?

368 =

3.NBT.A.I

Round the the nearest ten.

714 =

The Wuddletown Forest is a rectangular shape.
Three-eighths of the forest is Razzleberry trees.
Draw a model of the forest shading the area that
is Razzleberry trees.

3.NFA.1

3.0A.A.5

A Whizzleburr tree is 24 feet tall. A Lollyvolly tree is 6 feet tall. How many times taller is the Whizzleburr tree

5 | than the Lollyvolly tree? Draw a model, write the equation, and solve.

Equation

Answer

times taller

parallelograms.

3.G.Al

Circle the quadrilaterals that can also be classified as

3.MD.A.1
Hubert started picking razzleberries early in the
afternoon at the time shown on the clock. At what time

= did he start? Include A.M. or P.M.
P>
P>
Hubert spent 4 hours
o and 32 minutes picking
Razzleberries. At what
time did he finish? Include
P A.M. or P.M.
P
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S5 S5 =X =S5 S5 S5 S5 S5
]S> ]S> 7 S 32 <32 S ]S
Name
3.NBT.A.2 3.NFA.2 4
Solve for the unknown. Show your work. Label the number line using fourths. Place a star at -
3/4, 1 square at 6/4, and a circle at 8/4. f_-
h + 316 = 798 745 - v =189 o~
1 1 1 1 1 1 1 1| -
1 I | I | )
0 1 2 &,
3.0A.A4
Find the unknown factor for the following equations.
kx 8 =96 kK=__ d+5=11 d= uxl2 =48 us=
56 + a=7 as= 32+z=8 zZ=
3.GAT 3.MD.A.2

Draw 3 shapes in each section of the Venn Diagram below.

some right angles and
some sides the same length

some sides the same
length but no

some right angles
but no side the

same length right angles

Hubert spent the weekend picking zackerlyberries and
popplyberries. He picked 10 kilograms of the berries. If
he puts the berries into bags that can hold 2 kilograms,
how many bags will be need for all the berries? Draw
a model, write the equation, and solve.

Equation
Answer bags
© ZU1L5
2 Brainy Apples
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Name

3.NBT.A.3 3.NFA.3 y

Use the number line to find the product of Use the number line to find the equivalent fraction. ~
7x20=___. 1/3 = 4/6 = E
3 1/, 2/3 3/3 4/3 ~

ey f i | | =
| l l l l l l I )

O 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 0,6 2l/6 3/l6 4l/6 5l/6 6;6 7l/6 gj/e ~

Draw a model, write the equation, and solve.
Equation
Answer

Jjuice boxes

3.0AB.5
Harley brought juice boxes for his family's hike through the Zowzleton Forest. He brought 3 packages of juice boxes.
In each package there are 3 different flavors, with 4 juice boxes of each flavor. How many juice boxes did he bring?

3.G.A.2
Shade the rectangles to show 1/4.

3.MD.B.3
Use the pictograph data fo create a bar graph. Answer
the questions that follow.
Types of Trees in Vullyville Park

part of part of
are shaded are shaded
parts of parts o
are shaded are shaded

razzleberry O

razzleberry

popplyberry

L0

popplyberry

zackerlyberries

zackerlyberry

whizzleburr

whizzleburr

Key: O =3 trees

12

trees?

Which two types of
&

trees total 18?

Which tree type is there 6 more of than razzleberry

2

© 2013
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Name

SNBTAL —  3NEAI

Hubert and Sheldon went for a stroll through |Write the unit fraction for each model. f‘(

the forest. They saw 136 birds. Hubert said they )

saw about 100 birds, but Sheldon said they saw ____ shaded @ ____ shaded i

about 140 birds. Who is correct & why? “
— not shaded __ not shaded -

Ay,
3.0AB6

Complete the equations.

___rowsof 8=16 4x =44 _ x12=108 8 rowsof ___ =56

__x8=16 44 - 4= 108 +-12=____ 8x___ =56

16+-8=___ 56 +8=___

3.G.A.2 3.MD.B.4

The Doodlebuzz Forest is partitioned into 3 rows of 4 trees [Place the following objects at the given measurement.
each. What fraction of the whole forest is each tree? Draw
a model to help explain. Place a @ at 1/2 inch.

Place a at 2 1/4 inch.

Place a A at 1 3/4 inches.

inches

© 2013
2 Brainy Apples
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Name

3.NBT.A.2 3.NFA.2 y
Use place value to solve. What fraction is located at point A? -
140 What fraction is located at point B? )
+380 What fraction is locgted at i;oin’r ca____ )t
HHHHHH §
A B -
0 1 2 &,
3.0A.C.7
Solve the equations.
121 + 11 = 6*6= 36+3= 12x6-=
+7=3 x8=32 108 + 9 = 12* = 60
3.G.A. 3.MD.C.6

Joel says that all triangles belong in the group “all sides
same length”. Gabby says that all triangles belong in the
group “some sides same length”. Who is correct and why?

Draw a rectangle with an area of 12 square inches.

Draw a rectangle with an area greater than 12 square

inches using a blue colored pencil or crayon.

©ZUlLS
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S5 S5 =X =S5 S5 S5 S5 S5
2 2 7 7 3 xS 7 7
Name
3.NBT.A.3 3.NFA.3
Explain why 6 x 70 is 420. Mr. Planter wants to have the largest piece of cake

he can. Should he slice his cake info thirds or
fourths? Which would result in a larger piece?
Explain.

3.0A.D.8
Jacob wants to eat 28 servings of protein each week. He eats 4 servings each day. After 3 days, how many servings
of protein does Jacob have left to eat in order to meet his goal? Draw a model, write the equation and solve.

Equation
Answer more servings of protein
3.G.Al 3.MD.C.7
Think of 2 different ways you can put shapes into groups. |The floor plan of one room of the Planters peanut
Label each group below and draw 3 examples for each factory is shown below. What is the area?
group. Equation Answer
Group #1 90 feet
12
feet
Group #2
What is the perimeter of this room?
Equation
Answer

© 2013
2 Brainy Apples
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Name

3.NBT.A.1

nearest hundred.
562 = & 194 =

Round each number to the nearest ten and the

&

827 = & 708 =

&

3.NFA.l

For Mr. Planter the Peanut’s birthday, his friends
baked him a cake. There are 6 peanuts who are going

to share the cake. What fraction of the cake will
each friend receive? Explain your answer.

Use the portion of the multiplication table to give 3 patterns you see

2

3

4

10

15

20

25

30

35

40

45

12

18

24

30

36

42

48

54

14

21

28

35

42

49

56

63

3.0A.D.9
X 0 1
5 0 5
6 0 6
7 0 7
8 0 8

16

24

32

40

48

56

64

72

3.G.A.2

can shade 1/3.

The rectangles below are all the same size. Elisabeth wants
to shade 1/3 of each rectangle. Show 3 different ways she

3.MD.D.8

The packaging room of the Planters factory has a
perimeter of 87 yards. The packaging room has 6 sides.
The lengths of 5 sides of the room are 14 yards, 11
yards, 16 yards, 9 yards, and 20 yards. What is the
length of the sixth side? Write the equation and solve.

Equation
Answer ___ vyards
© 2013
2 Brainy Apples
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=5 =5 =5 =5 =5 S5 =55 S5
]S> ]S> 7 S 32 <32 S ]S
Name 2
3.NBT.A.2 3.NFA.2 <8
Estimate then use the break apart strategy to How many thirds are there between O and 1?
solve. Draw a model below. wednecday\ -
Estimate: 879 =
- 417 =

3.0A.A3
Planters produces 132 pounds of mixed nuts a day. The mixed nuts are packed into crates that hold 12 pounds of
mixed nuts. How many crates will be needed to pack all the mixed nuts? Write the equation and solve.

Equation =

Answer crates
=3

3.G.A.2 3.MD.A.1

A square is divided into equal squares. One row covers 1/6 of{It takes 3 hours and 17 minutes to process and package

the whole square. There are é squares in each row. How a can of nuts. This process was started at 10:04 P.M. At <

many squares are in the whole square? Draw a model to what time did this process end? Use the number line

help explain. below to show how you determined the time. D
=3
=3

< > | <

=3

© 2013
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Name

3.NBT.A.3 3.NFA.3

Fill in the blank with the factor that make the Dominic took 3 Nutter Butter cookies from the
equation true. package. He did not break them into pieces. What
x 20 = 240 80 x = 560 |[fraction of the Nutter Butter cookies does Dominic

have? Explain.
5 x = 300 x 3 =210

3.0A.D.s
On Tuesday the Planters factory packages 143 pounds of peanuts. On Wednesday 258 pounds of peanuts are
packaged. By the end of the day on Thursday, 542 pounds of peanuts have been packaged. How many pounds of
peanuts were packaged on just Thursday? Draw a model, write the equation, and solve.

Equation
Answer
3.G.A.l 2.MD.A.2

Explain why the following shapes are not rhombuses. The LeBlanc family ate 132 kilograms of peanut butter
and 87 kilograms of almond butter last year. How many
fewer pounds of almond butter than peanut butter did
the family eat? Draw a model, write the equation, and
solve.
Equation
Answer ___ fewer pounds

© 2013
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L2 LD £ £ L2 L2 £ £
=5 =5 <5 < 5 < <5
Name
3.NBT.A.1 S.NF.A.L
. . Mr. Planter and his friends partitioned their brownies into 4
Which of the following numbers round to 2307 equal parts. The models below show how they each did this.
Whose brownie is correctly partitioned into fourths? Explain.
227 239 234 221
216 232 225 241
MrP  Mr.C MrA MrW
3.0A.B.5
Show one way to break apart the array using the distributive property. Write the equation and solve.
S~ >~ S S~ — SN >~ — S S~ — S~ S~ — S >~ —
(* _J)+(C_*7=_
S~ >~ S >~ — S~ S~ — S >~ — S~ >~ SN S~ —
3.G.Al 3.MD.B.3

Mr. Planter the Peanut has a cake that is a quadrilateral. It

has 4 sides that are all the same length and 2 pairs of

parallel sides, but it does not have right angles. What type

of quadrilateral is his cake? Draw a model.

use the key. Answer the question that follows.

Use the data to create a picture graph. Remember to

Number of Nuts in a Can
Number of Nuts in a Can
Nut Number
Nut Number
peanut
peanut 42
cashew
cashew 20
pecan
pecan 14
almond
almond 28
Key: G =4 books

What is the difference between the number of
almonds and the number of peanuts?

© 2013
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=5 =5 =5 =5 =5 S5
]S> ]S> 7 S 32 <32
Name
3NBTA2 = 3NFAZ
Draw base ten blocks to solve. Label the number line using fourths. How many
316 - 129 = fractions are greater than 1?
0 1
3.0AD.8
Bryce uses 12 four leaf clovers to make a necklace and 6 four leaf clovers to make a bracelet. How many four leaf] <
clovers does he use if he makes 8 necklaces and 11 bracelets? Write the equation and solve. B=
Equation a
Answer a
=3
3.G.Al 3.MD.B.4 s
Ashley says the following shape is a rectangle because it |[Record the following data on the line plot below.
has 2 pairs of sides that are the same length. Why is she Weight of Leprechaun Pots (in pounds) <
incorrect? What type of quadrilateral is this shape? 3:2;3%;3%;2%; 2% 2% 4;3% 2% 2;3% 3% 2% 2% =
=3
P
| | | 1 1 1 1 1| =3
1 1T 1 1 1 T 1 o
2 2% 2% 2% 3 3% 3% 3% 4
=3
How many pots weighed 2 1/2 pounds? &
=3
Which weight did the most pots weigh? o
How many pots weighed more than 2 3/4 pounds? <
3=
© 2013 =3
£ £ o £ £ 2 Brainysagles R IR £ IR

7 7 7 7 3 7 7 3 7



]S> ]S> 7

Name

Shade the shapes. Write the fraction & compare

3.NBT.A.3
Use the distributive property to solve:
4 x70=___
( X ) + ( X )
X = X =
+ =

3.NFA.3

using <, >, or =. @

Solve the equations.
12+2=

~8:=8 *7

4x9=__

0

3.0A.C.7

63+9=___ 9*9-=

9% +12=__

3.G.A.l

Lisa Leprechauns bedroom has 2 pairs of parallel lines and 2
pairs of sides that are the same length. There are no square
corners. What shape is the bedroom? Draw a model and

explain your reasoning.

3.MD.C.7
Luci Leprechaun planted a four leaf clover garden.
What is the area of her garden? Show how you can
partition the garden to solve.

Area =
7 feet
4 feet
8 5 feet
feet
4 feet
12 feet
© 2013
2 Brainy Apples
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]S> ]S> 7 S ]S> ]S 32 <32

Name WEEK 2
3.NBT.A.l 3.NFA.l
Use rounding to estimate the sum or difference| Three-eighths of Lenny Leprechauns pot of gold is
to the greatest place value. fake. Draw a shaded model to show the fake gold in ‘
54 361 628 his pot.
3.0AD.8

Lori Leprechaun has 3 pots of gold. During the next 4 days, she finds enough gold to make 7 more pots. If each pof
can hold 9 ounces of gold, how many fotal ounces of gold does she have? Write the equation and solve.

Equation Answer ounces of gold

3.G.A1 3.MD.D.8
Draw a quadrilateral that belongs to at least two of the Look at the rectangle below. Then draw another
following groups: square, rectangle, or parallelogram. List rectangle with the same perimeter but a different

the groups to which your quadrilateral belongs, and explain |greq.
why your shape belongs to these groups.

Perimeter = cm Perimeter =

cm

Area = ______ squadre c¢m Area = square
cm

© 2013
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S5 S5 =X =S5 S5 S5 S5
]S> ]S> 7 S 32 <32
Name
SNBTAZ = 3NFAZ
Use properties of addition to find the sum. Use the number line below fo show that there are
8/8 in 1 whole.
68 + 91 + 38 + 14 = |
|
3.0AD9
Lance Leprechaun has 4 times as much gold coins as Laney Leprechaun. Does Lance have an even or odd number of] &
gold coins? ___ S
Explain how you know this when you dont know the number of gold coins Laney has. 5
$=
=3
3.G.A 3.MD.D.8 s
Lexie Leprechaun has 3 triangular flags that fly on her Lenny Leprechauns favorite meadow is rectangular in
castle. The orange flag has all sides the same length; the [shape and has a perimeter of 98 meters. The width <&
yellow flag has only 2 sides of the same length; and the |of the meadow is 18 meters. What is the length of =
green flag does not have any sides that are of the same  |the meadow? =
length. Draw what her flags could look like. o
=3
$=
=3
P
meters <
P
=3
3=
© 2013 =3
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Name

3.NBT.A.3 3.NFA.3
Which of the following equations have a Explain why 2/3 is larger than 2/6 when referring to
product of '240'? the same size whole.
6 x 40 8 x 30 7 x 30
12 x 40 9 x 40

3.0A.A.3

Larry Leprechaun has 5 times as many ounces of gold in his pot as Lindsay Leprechaun. If Lindsay has 10 ounces
of gold in her pot, how many ounces of gold does Larry have? Draw a model, write the equation, and solve.

Answer ounces of gold
Equation

3.6.A.2 3.MD.A.1
Lonnie Leprechaun planted four leaf clovers in 3/4 of his Lexie Leprechaun woke up at 7:48 A.M. She spent 16
yard. Shade the model below to show how much of the yard |minutes eating breakfast, 29 minutes getting dressed,
will be four leaf clovers. and 38 minutes polishing her gold coins. At what time

or PM.

is she finally ready to leave her home? Include A.M.

© 2013
2 Brainy Apples
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Name

3.NBT.A.I

Approximately 600 children entered the annual kite
flying contest. What is the greatest number of

Alexs kite has 6 equal-sized sections. Two parts are
green, one part is blue, and three parts are orange.

3.NFA.1

color?

Equation

children that could have entered? ______ Write the unit fraction that represents each color. '

What is the least number of children that could =R

have entered? green = blue = orange = v
3.0AD.8

During the annual kite flying contest, Joel counted an equal number of blue, green, and orange kites. He counted 18
kites during the morning session and 9 kites during the afternoon session. How many kites did he count of each

Answer kites of each color

3.G.A.2

Each person will receive

Heather and 3 of her friends want to share a pizza after
the annual kite flying contest. Use the model to show 2
ways Heather and her friends can partition the pizza to
ensure they each get an equal-size piece.

of the pizza.

3.MD.A.2
Eli and his friends brought bottles of PowerAde to drink

of 24 liters in 12 bottles. How many liters does each
bottle hold? Write the equation and solve.

Equation

Answer _____ liters in each bottle

© 2013
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Name

Fec
3.NBT.A.2 3.NFA.2Z
Count by hundreds, tens and ones fo solve: Two miles of Main Street were shut down for the annual
276 + 419 = . kite flying contest. Katy was flying her kite halfway
Use the number line to show your thinking. between mile 1 and mile 2. If there are markers at each T
half mile, at what fraction is she standing? Explain. 2N
€ A
3.0A.B.5
Write frue or false.
4x3 > 1%3%2 6:2 = 2=+6
6*2%4 < 3x4x4 28+7 =T7%*4
3.G.A.2 3.MD.B.4
A pan of brownies is partitioned into 20 equal-sized pieces. Measure the length fo the nearest quarter inch.
How many pieces make up 2/5 of the pan of brownies? Draw a
model to help explain your answer. e
__in
I —_in
L in
e in
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Name

NeA a
3.NBT.A.3 3NFA3
80 x9 = tens x 9 = tens = Melanie made 2 cakes for the annual kite flying competition. One
cake was larger. Kathy said that 1/2 of each cake would be the
same size. Is Kathy correct? Explain using words and a model.
6 x 80 = 6 X tens = tens = ’ P 9
9 x 40 = 9 x tens = tens =

Fill in the blanks to make the equations true.

Gx7)+(_x7)=14x7

3.0A.B.5

5x(8x3)=(5x__)x3

(1x8x5=1x(8x ) 21 x =(10 x 8) + (11 x 8)
3.G.A.2 3.MD.D.8

It takes 8 squares to cover a rectangle. Each square Find the perimeter and the area. Tell which rectangle
covers of the rectangle. has a greater area. Each square is 1 square inch.
It takes 10 squares fo cover a rectangle. Each square A B
covers of the rectangle.
It takes 12 squares to cover a rectangle. Each square A: Perimeter =
covers of the rectangle. Area =

B: Perimeter =
It takes 5 squares to cover a rectangle. Each square Area =
covers of the rectangle.

Rectangle has a greater area.

© 2013
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Name

3.NBT.A.1

Katy counted 167 kites on Monday and 212 Kites on
Thursday when she watched the annual kite flying
contest. About how many kites did Katy count?
Write the equation and solve.

Equation

Answer kites

Dominics kite has 8 bows. Color the model to show the

fraction of each color.

3.NFA.l

LU IGL KR

green = 2/8 £y
orange = 5/8 2N
J %

MMMM vellow = 1/8

3.0A.D.8

Carolyn used 54 yards of string to make kites. She used 6 yards of string for each kite she made. On each kite she
tied 7 bows. How many bows did Carolyn tie? Write the equation and solve.

Equation

Answer

The mayor wants to divide a wall to hang pictures of the
winners of the annual kite flying contest. There will be 1
part for each of the 12 winners. What are 3 ways the mayor

3.G.A.2

can divide the wall?

3.MD.A.2

Target sells 26 Kites a day and Wal-Mart sells 18 kites a
day. How many fewer kites does Wal-Mart sell after 2
days than Target? Write the equation and solve.

Make rows of parts.
Make rows of parts.

Equation
Make rows of parts.

Answer fewer Kites than Target
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Yic G5
3.NBT.A.2 3.NF.A.2 <&
Use the order of operations to solve the Andy says that point A is at 6/8. Is he correct? S
following equations. Explain. e
e
187 + (217 - 176) - 198 = /)
L1 | I A+ | | | Th 7
372 - (712 - 687) = I I I I I o <<
Q ] 2 s
3.0AA4
Find the unknown factor for the following equations. =
3=
A x1=33 A=__ i%w:z; ik: [Ixw=120 [] = o
$=
64 = =8 = 84 + =12 L
-2 [\-— O-2 O R
3.G.Al 3.MD.D.8 pe
Write how many of each type of angle the shape has. The park where the annual kite flying contest is being
held has an area of 132 square yards. If the length of <&
the park is 12 yards, how wide is the park? Write the 3=
equation and solve. =3
P
=3
$=
L right right right 5
‘ acute acute acute G2
Equation <
‘ obtuse obtuse obtuse £
Answer yards 0
3=
2 Br?inzyo,isples <
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3.NBT.A.I

368 is between which two tens? 360 & 370
714 is between which two tens? 710 & 720

Round the the nearest ten.

368 = 370

714 = 710

The Wuddletown Forest is a rectangular shape.
Three-eighths of the forest is Razzleberry trees.

Draw

is Razzleberry trees. -

3.NFA.1

a model of the forest shading the area that

¢ n,"“\

Equation 24 ft = y x 6 ft = 24 ft + 6 ft = 4 times

Answer 4 times taller

3.0A.A.5
A Whizzleburr tree is 24 feet tall. A Lollyvolly tree is 6 feet tall. How many times taller is the Whizzleburr tree
than the Lollyvolly tree? Draw a model, write the equation, and solve.

24 feet

6 feet | | | |

3.G.Al

Circle the quadrilaterals that can also be classified as

parallelograms.

3.MD.A.1
Hubert started picking razzleberries early in the
afternoon at the time shown on the clock. At what time
did he start? Include A.M. or P.M.

12:57 P.M.

Hubert spent 4 hours
and 32 minutes picking
Razzleberries. At what
time did he finish? Include
A.M. or P.M.
5:29 P.M.
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3.NBT.A.2 3.NFA.2 4
Solve for the unknown. Show your work. Label the number line using fourths. Place a star at -
3/4, 1 square at 6/4, and a circle at 8/4. f_-
h + 316 = 798 745 - v =189 o L1 —
h = 482 v = 556 1 1 1 1 1 | | -
J J I I I I I | )
O 14 2/4 3/4  4/4 5/ 6/4 T4 8/4 a,
3.0A.A4
Find the unknown factor for the following equations.
kx8=96 k=12 d+5=11 d=755 uxl12 =48 u=+4
56 + a=7 a=28 32+z=8 zZ=4
3.GAT 3.MD.A.2

Draw 3 shapes in each section of the Venn Diagram below.
Answers will vary. Accept all reasonable answers.

some right angles and
some sides the same length

some sides the same
length but no

some right angles
but no side the

same length right angles

Hubert spent the weekend picking zackerlyberries and
popplyberries. He picked 10 kilograms of the berries. If
he puts the berries into bags that can hold 2 kilograms,
how many bags will be need for all the berries? Draw
a model, write the equation, and solve.

B E -
B .

Equation b = 10 kg + 2 kg each = 5 bags

Answer 5 bags
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,» Wednecday
3.NBT.A.3 3.NFA3 ,
Use the number line to find the product of Use the number line to find the equivalent fraction. -
7 x 20 = 140. 1/3 = 2/6 4/6 = 2/3 f__
YY" 3 1/ 2(3 343 403 -,
H_H_H_H_m — i | | =
I I I I I I L I )
O 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 0,6 1I/6 276 3/I6 476 5I/6 6;6 7I/6 J/(-, S

3.0AB.5
Harley brought juice boxes for his family's hike through the Zowzleton Forest. He brought 3 packages of juice boxes.
In each package there are 3 different flavors, with 4 juice boxes of each flavor. How many juice boxes did he bring?
Draw a model, write the equation, and solve. /\N/\ /\/\ /\N/\ /\/\ /\/\ /\/\
Equation b =3 x 3 x 4 =9 x 4 =36
Answer 36 juice boxes

3.G.A.2 3.MD.B.3

Shade the rectangles to show 1/4. Use the pictograph data to create a bar graph. Answer
the questions that follow.
1 part of 1 part of Types of Trees in Vullyville Park
4 are shaded 4 are shaded eberry O razzleberry
popplyberry OO popplyberry

zackerlyberries Ooo zackerlyberry
whizzleburr Oooo whizzleburr

- ~ O —

Which tree type is there 6 more of than razzleberry
trees? zackerlyberry

2 parts of ¢ parts of Which two types of trees total 18?

8 are shaded 8 are shaded popplyberry & whizzleburr

© 2013
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3.NBT.A.l 3.NFA.l y
Hubert and Sheldon went for a stroll through |Write the unit fraction for each model. R
the forest. They saw 136 birds. Hubert said they f_-
saw about 100 birds, but Sheldon said they saw 5/12 shaded @ 3/4 shaded ~
about 140 birds. Who is correct & why? 8oth are -‘
ect depending on to which place you round 136. 136 rounds t ti
if\gn:;areser hurlwd?"e(::l alfn,d 14|(§ ‘rcf ﬂfe :Zar;; +enl.3 136 rounds fo 100 0 7/12 not shaded 1/4 not shaded :

3.0AB6
Complete the equations.
2 rows of 8 =16 4x11=44 9 x 12 =108 8 rows of 7 = 56
2x8=16 44 -4 =11 108 -12=9 8 x7=56
16 +8=2 56 +8=7
3.G.A.2 3.MD.B.4

The Doodlebuzz Forest is partitioned into 3 rows of 4 trees
each. What fraction of the whole forest is each tree? Draw

a model fo help explain.

Each tree is 1/12 of the forest. There are 12 total trees with
each tree being one part.

Place the following objects at the given measurement.

Place a @ at 1/2 inch.
Place a at 2 1/4 inch.

Place a A at 1 3/4 inches.

0 1 2
inches
© U135
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Name

S.NBTA.2 — 3NEAZ

Use place value to solve. What fraction is located at point A? 2/6 f‘(
140 What fraction is located at point B? 9/6 )
+380 What fraction is located at imin’r c? 13/6 )t
400 + 120 = 520 I_I_i I I I I | I I I Ic+ =
A B -
0 1 2 &,
3.0A.C.7
Solve the equations.
121 - 11=11 6*6=36 36 +3=12 12x6=72
21+7=3 4x8=32 108 -+ 9=12 12 * 5= 60
_ 3GAL o 3.MD.C.6
Joel says that all triangles belong in the group "all sides  |Draw a rectangle with an area of 12 square inches.

same length”. Gabby says that all triangles belong in the
group “some sides same length”. Who is correct and why? B D I L
O T R R I N R R R I I T R B
Gabby is correct because not all triangles have all equal

sides. Some triangles can have sides of equal length, but not

all triangles do.

Draw a rectangle with an area greater than 12 square
inches using a blue colored pencil or crayon.
Answers will vary. Accept all reasonable answers.
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3.NBT.A.3 3.NFA.3
Explain why 6 x 70 is 420. Mr. Planter wants to have the largest piece of cake
6 x 70 is 420 because 6 times 7 tens is 42 tens |he can. Should he slice his cake into thirds or
and 42 tens is the same as 420. fourths? Which would result in a larger piece?

Explain. He should slice his cake into thirds because
slicing a cake into fewer pieces will result in each

e SR g et
Jacob wants to eat 28 servings of protein each week. He eats 4 servings each day. After 3 days, how many servings
of protein does Jacob have left to eat in order to meet his goal? Draw a model, write the equation and solve.

28 servings |

Equation 28 servings = (4 servings per day x 3 days) + | | | ]

p = 28 servings - 12 servings = 16 servings 4 4 . P

'

.A.DS_W_G.I'I_(JEQQ_L@J_QDLLD.QML%BJEIH
3.G.Al 3.MD.C.7

Think of 2 different ways you can put shapes into groups. |The floor plan of one room of the Planters peanut
Label each group below and draw 3 examples for each factory is shown below. What is the area?
group. Equation 90 ft x 12 ft = 1,080 ft?
Answer 1,080 square feef
Group #1 90 feet
12
feet
Group #2 What is the perimeter of this room?
Answers will vary. Accept all reasonable answers. Equation 90 ft + 90 ft + 12 ft + 12 ft = 204 ft
Answer 204 feet

© 2013
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nearest hundred.
562 = 560 & 600

827 = 830 & 800

3.NBT.A.1

Round each number to the nearest ten and the

194 = 200 & 200

708 = 710 & 700

3.NFA.I
For Mr. Planter the Peanut’s birthday, his friends
baked him a cake. There are 6 peanuts who are going
to share the cake. What fraction of the cake will
each friend receive? Explain your answer. Each peanut

will receive 1/6 of the cake because the cake will be divided
into 6 pieces and each peanut will receive one piece.

3.0A.D.9

can shade 1/3.

The rectangles below are all the same size. Elisabeth wants
to shade 1/3 of each rectangle. Show 3 different ways she

The packaging room of the Planters factory has a
perimeter of 87 yards. The packaging room has 6 sides.

. T . . 0 1 2 3 4 5 6 7 8 9
Use the portion of the multiplication table to give 3 patterns you see| *
Answers will vary. Accept all reasonable answers. 5 0 [ 5 [120f 1520 [2530( 3540 45
6 0 6 12 18 24 30 36 42 48 54
7 0 7 14 21 28 35 42 49 56 63
8 0 8 16 24 32 40 48 56 64 72
3.G.A.2 3.MD.D.8

Answers will vary. Accept all reasonable answers. Example:

The lengths of 5 sides of the room are 14 yards, 11
yards, 16 yards, 9 yards, and 20 yards. What is the
length of the sixth side? Write the equation and solve.

Equation 87 yd = s + 14 yd + 11 yd + 16 yd + 9 +yd 20
yd =5+ 70 yd = 87 yd - 70 yd = 17 yd
Answer 17 yards

© 2013
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3.NBT.A.2 3.NFA:2 <8
Estimate then use the break apart strategy to How many thirds are there between O and 1? 3
solve. Draw a model below. wednecday\ -
Estimate: 500 879 =800 + 70 + 9
- 417 = 400 + 10 + 7
462 400 + 60 + 2 0 a

3.0A.A.3
Planters produces 132 pounds of mixed nuts a day. The mixed nuts are packed into crates that hold 12 pounds of
mixed nuts. How many crates will be needed to pack all the mixed nuts? Write the equation and solve.
Equation ¢ =132 pounds + 12 pounds per crate = 11 crates 3
Answer 11 crates

=3
3.G.A.2 3.MD.A.1
A square is divided into equal squares. One row covers 1/6 of{It takes 3 hours and 17 minutes to process and package
the whole square. There are é squares in each row. How a can of nuts. This process was started at 10:04 P.M. At <
many squares are in the whole square? Draw a model to what time did this process end? Use the number line
help explain. below to show how you determined the time. D
1:21 A.M.
=3
+6 M +1lI M +1 H +1 H +1 H
=3

There are 36 squares total because one row has 6 squares, (WYY\l
<

and 1/6 of the square means that one row is selected out of | €7 [ I ]
10:04 10:10 10:21 11t21 12121 1:21
6 total rows.

© 2013
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Name

Fill in the blank with the factor that make the

equation true.
12 x 20 = 240

5 x 60 = 300

3.NBT.A.3

80 x 7 = 560 fraction of the Nutter Butter cookies does Dominic
have? Explain. Dominic has 3/1 of the Nutter Butter cookies because the
70 x 3 = 210 numerator tells how many parts are selected (he has 3 selected) and the

Dominic took 3 Nutter Butter cookies from the
package. He did not break them into pieces. What

denominator fells how many parts make the whole. One part makes a whole.

3.NFA.3

Answer 141 pounds

3.0A.D.s

On Tuesday the Planters factory packages 143 pounds of peanuts. On Wednesday 258 pounds of peanuts are
packaged. By the end of the day on Thursday, 542 pounds of peanuts have been packaged. How many pounds of
peanuts were packaged on just Thursday? Draw a model, write the equation, and solve.

Equation p = 542 |b- (143 |b + 258 |b) = 141 |b

542
%3 258 p

3.G.A.l

Explain why the following shapes are not rhombuses.

A rhombus has 2 pairs of parallel lines (the 2" and 3™ shapg
do not) and all four sides are of equal length (none of the

(7

shapes have sides that are all the same length).

2.MD.A.2 '
The LeBlanc family ate 132 kilograms of peanut butter
and 87 kilograms of almond butter last year. How many
fewer kilograms of almond butter than peanut butter
did the family eat? Draw a model, write the equation,
and solve.

132

87
Al

Equation 132 kg PB = 87 kg AB + p = 132 KG PB - 87
kg AB = 45 kg

Answer 45 fewer kilograms
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3.NBT.A.1 S.NF.A.L
, Lo Mr. Planter and his friends partitioned their brownies into 4
?
Which of the following numbers round to 230 equal parts. The models below show how they each did this.
Whose brownie is correctly partitioned into fourths? Explain.
227 239 234 221 Mr. P and Mr. C both correctly
partitioned their brownies into
216 232 225 241 fourths because they have 4
Mr.P  Mr.C Mr A Mn W pieces that are the same area of
3.0A.B.5 The whole.
Show one way to break apart the array using the distributive property. Write the equation and solve.
Answers will vary. Example:
S~ >~ S S~ — N — | > — S S~ — S~ S~ — S >~ —
(2*5)+(2*7)=10+14 = 24
S~ >~ S >~ — N — | > — S >~ — S~ >~ SN S~ —
3.G.Al 3.MD.B.3

Mr. Planter the Peanut has a cake that is a quadrilateral. It

has 4 sides that are all the same length and 2 pairs of

use the key. Answer the question that follows.

Use the data to create a picture graph. Remember to

parallel sides, but it does not have right angles. What type Number of Nuts in a Can
of quadrilateral is his cake? Draw a model. Number of Nuts in a Can ”~ _—
u umber
Nut Number -
rhombus peanut VU UuevwwN
peanut 42
cashew DDDDD
cashew 20
” pecan DOOOC
pecan
almond OO0
almond 2
® Key: G =4 books
What is the difference between the number of
almonds and the number of peanuts? 42 pn - 28 a = 14
© 2013
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Draw base ten blocks to solve. Label the number line using fourths. How many
316 - 129 =187 OO0 00 fractions are greater than 1? 4

/4

8888@@ 0/ /6 26 3/4 44 s/ 6/4

3.0A.D.8
Bryce uses 12 four leaf clovers to make a necklace and 6 four leaf clovers to make a bracelet. How many four leaf] <

D@@#QQSBSD |
LT s

clovers does he use if he makes 8 necklaces and 11 bracelets? Write the equation and solve. B=
Equation 7 = (8 necklaces x 12 clovers each) + (11 bracelets x 6 clovers each) = 96 clovers + 66 clovers = 162 -5
clovers
Answer 162 clovers >
=3
3.G.Al 3.MD.B.4 s
Ashley says the following shape is a rectangle because it |[Record the following data on the line plot below.
has 2 pairs of sides that are the same length. Why is she Weight of Leprechaun Pots (in pounds) <
incorrect? What type of quadrilateral is this shape? 3;2;3%;3%; 2% 2% é%; 4;3%; 2% 2;3%; 3% 2%; 2% =
3 =3
§ 2 ol ol s
x % 2 2 % 2% = »
| | | I I N I =3
1T 1T 1 1" o
Rectangles do have 2 pairs of sides that are the same 2 24 A 2% 3 3% 3k 3M 4 5
length, but rectangles must have 2 pairs of parallel lines .
and 2 pairs of perpendicular lines. This shape does not How many pots weighed 2 1/2 pounds? 1 >
have parallel lines or perpendicular lines. This shape is a ) ) . . <
Kite. Which weight did the most pots weigh? 2 3/4 o
How many pots weighed more than 2 3/4 pounds? 7 <
*-.
©2013 =3
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Name
3.NBT.A.3 3.NFA.3
Use the distributive property to solve: Shade the shapes. Write the fraction & compare
4 x 70 = 280 using <, >, or =.
(2 x 70) + (2 x 70)
2 x 70 = 140 2 x 70 = 140
140 + 140 = 280 2/4 < 6/8
3.0A.C7
Solve the equations.
12+2=6 4x9=36 63+9=7 9*9=81
64-8=-8 0*7=0 96 +12=8 7x2=14
3.G.A.l 3.MD.C.7

Lisa Leprechauns bedroom has 2 pairs of parallel lines and 2|| y¢j Leprechaun planted a four leaf clover garden.
pairs of sides that are the same length. There are no square|What is the area of her garden? Show how you can
corners. What shape is the bedroom? Draw a model and partition the garden to solve.

explain your reasoning.

(7 ft x 8ft ) + (5 ft x 4 ft) = 56 ft2 + 20 ft2 = 76 ft2
Area = 76 square feet
The garden could be partitioned two ways. Example:

7 feet
The shape of her bedroom is a rhombus. A rhombus has 2 4 feet
pairs of parallel lines and 2 pairs of sides that are the same 8 5 feet
length. Unlike a square a rhombus does not have fo have 4 feet|
right angles. 4 feet
12 feet
© 2013
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Nome WEEK 24
SNBTAL S 3NFAL
Use rounding to estimate the sum or difference| Three-eighths of Lenny Leprechauns pot of gold is
to the greatest place value. fake. Draw a shaded model to show the fake gold in ‘
54 50 361 400 628 600 [his pot.
+ 28 +30 +437 +400 - _176 -200
80 800 400
3.0AD.8
Lori Leprechaun has 3 pots of gold. During the next 4 days, she finds enough gold to make 7 more pots. If each poff <&
can hold 9 ounces of gold, how many fotal ounces of gold does she have? Write the equation and solve. £=
=3
Equation g = (3 pots + 7 pots) x 9 ounces gold each = 10 pots x 9 ounces gold each = 90 ounces gold
Answer 90 ounces of gold G2
=3
3.G.Al 3.MD.D.8 s
Draw a quadrilateral that belongs to at least two of the Look at the rectangle below. Then draw another
following groups: square, rectangle, or parallelogram. List rectangle with the same perimeter but a different <
the groups to which your quadrilateral belongs, and explain |greq. P=
why your shape belongs to these groups. Answers will vary. Accept any reasonable answers. 3
Answers will vary. Accept any reasonable answers. 3
=3
$=
=3
P
Perimeter = 18 cm Perimeter = cm a
Area = 18 square cm Area = square cm =
=3
*-.
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Use properties of addition to find the sum. Use the number line below fo show that there are
8/8 in 1 whole.

| | | | | | | |
o 1/8 2/8 3/8 4/8 5/8 6/8 7/8

68 + 91 + 38 + 14 = 211

3.0A.D.9
Lance Leprechaun has 4 times as much gold coins as Laney Leprechaun. Does Lance have an even or odd number of] &
gold coins? even S
Explain how you know this when you dont know the number of gold coins Laney has. 5
Any number that is multiplied by an even number such as four, will have an even product. ~
=3
3.G.A 3.MD.D.8 s
Lexie Leprechaun has 3 triangular flags that fly on her Lenny Leprechauns favorite meadow is rectangular in
castle. The orange flag has all sides the same length; the [shape and has a perimeter of 98 meters. The width <&
yellow flag has only 2 sides of the same length; and the |of the meadow is 18 meters. What is the length of =
green flag does not have any sides that are of the same [the meadow? =
length. Draw what her flags could look like. o
8m=18m+18m+5s+5=98m-36m=62m=
31m+ 31lm <
$=
=3
P
=3
31 meters =
=3
$=
© 2013 =3
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Name

3.NBT.A.3
Which of the following equations have a
product of '240'?
6 x 40 8 x 30 7 x 30

12 x 40 9 x 40

Explain why 2/3 is larger than 2/6 when referring tfo
the same size whole.

2/3 is larger because the pieces would be larger than the
pieces for 2/6 pieces the fewer number of pieces a whole is
partitioned into, the larger the piece. Also you have 2 larger
pieces versus 2 smaller pieces, so 2/3 would be larger than 2/6.

3.NFA.3

Answer 50 ounces of gold
Equation 5 x 10 ounces = 50 ounces

3.0A.A3
Larry Leprechaun has 5 times as many ounces of gold in his pot as Lindsay Leprechaun. If Lindsay has 10 ounces
of gold in her pot, how many ounces of gold does Larry have? Draw a model, write the equation, and solve.

10

Lindsay

10

10

10 10| 10 |Larry

3.G.A.2

Lonnie Leprechaun planted four leaf clovers in 3/4 of his

yard. Shade the model below to show how much of the yard

will be four leaf clovers.

3.MD.A.1
Lexie Leprechaun woke up at 7:48 A.M. She spent 16
minutes eating breakfast, 29 minutes getting dressed,
and 38 minutes polishing her gold coins. At what time
is she finally ready to leave her home? Include A.M.
or P.M.

9:11 A.M.

© 2013
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Name WEEKL

3.NBT.A.1I
Approximately 600 children entered the annual kite
flying contest. What is the greatest number of

Alexs kite has 6 equal-sized sections. Two parts are
green, one part is blue, and three parts are orange.

3.NFA.1

color?

Equation 18 kites + 9 kites = 27 kites = 3 colors = 9 kites of each color

children that could have entered? 649 Write the unit fraction that represents each color. '

What is the least number of children that could =R

have entered? 550 green = 2/6 blue = 1/6 orange = 3/6 v
3.0AD.8

During the annual kite flying contest, Joel counted an equal number of blue, green, and orange kites. He counted 18
kites during the morning session and 9 kites during the afternoon session. How many kites did he count of each

Answer 9 kites of each color

3.G.A.2

ensure they each get an equal-size piece.
Each person will receive 1/4 of the pizza.

Heather and 3 of her friends want to share a pizza after
the annual kite flying contest. Use the model to show 2
ways Heather and her friends can partition the pizza to

3.MD.A.2

Eli and his friends brought bottles of PowerAde to drink
during the annual kite flying contest. They brought a totql <
of 24 liters in 12 bottles. How many liters does each
bottle hold? Write the equation and solve.

Equation 24 liters + 12 bottles = [ = 2 liters per bottle

Answer 2 liters in each bottle

© 2013
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3.NBT.A.2 3.NFA.2 <
Count by hundreds, tens and ones fo solve: Two miles of Main Street were shut down for the annual S
276 + 419 = 695. kite flying contest. Katy was flying her kite halfway »
Use the number line to show your thinking. between mile 1 and mile 2. If there are markers at each T A
¥4 715 +400 half mile, at what fraction is she standing? Explain. katy is =R yéi
standing at the 1 1/2 mile marker because 1/2 means that the whole is divided into 2 ¢ x,ﬂlﬁ)
equal parts, and Katy is standing past the whole 1 mile marker but before the whole
276 280 295 695 2 mile marker so she is at the 1 1/2 mile marker P
Write true or false. =3
}.
4x3 > 1*%3*%2 ftrue 6+2 = 2+ 6 false n
6*2*4 < 3x4x4 false 28:7 =7%*4 false s
=3
3.G.A.2 3.MD.B.4 o
A pan of brownies is partitioned into 20 equal-sized pieces. Measure the length fo the nearest quarter inch.
How many pieces make up 2/5 of the pan of brownies? Draw a 2
model to help explain your answer. e =
*-.
I 1 3/4in | <
$=
8 pieces make up 2/5 of the pan of brownies. 1/5 of the pan is =3
4 brownies because there are 5 rows and 1 row has 4 I 11/4 in s
brownies. If you choose 2 rows, then there are 8 brownies.
=3
I 3 /4 in B
=3
*-.
© 2013 =3
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Name

3.NBT.A.3
80 x9=8tens x 9 =72 tens = 720

6 x 80 = 6 x 8 tens = 48 fens = 480 Kathy is incorrect because the smaller cake’s
halves will be smaller than the larger cake’s
O x 40 =9 X 4 tens = 36 tens = 360 halves because the whole will be smaller.

Melanie made 2 cakes for the annual kite flying competition. One
cake was larger. Kathy said that 1/2 of each cake would be the
same size. Is Kathy correct? Explain using words and a model.

3.NFA.3

Fill in the blanks to make the equations true.
(4x7)+(10x7)=14x7

(1x8x5=1x(8x5)

3.0A.B.5

5x(8x3)=(5x8)x3

21 x 8 = (10 x 8) + (11 x 8)

3.G.A.2
It takes 8 squares to cover a rectangle. Each square
covers 1/8 of the rectangle.

It takes 10 squares fo cover a rectangle. Each square
covers 1/10 of the rectangle.

It takes 12 squares to cover a rectangle. Each square
covers 1/12 of the rectangle.

It takes 5 squares to cover a rectangle. Each square
covers 1/5 of the rectangle.

3.MD.D.8
Find the perimeter and the area. Tell which rectangle
has a greater area. Each square is 1 square inch.

A

A: Perimeter = 16 inches
Area = 15 square inches

B: Perimeter = 18 inches
Area = 20 square inches

Rectangle B has a greater area.
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3.NBT.A.1

Katy counted 167 kites on Monday and 212 Kites on
Thursday when she watched the annual kite flying
contest. About how many kites did Katy count?

Write the equation and solve.
Equation 200 + 200 = 400

Answer 400 kites

3.NFA.l

Dominics kite has 8 bows. Color the model to show the

fraction of each color.

) o b, I
SRR

green = 2/8 £y
orange = 5/8 ’}
yellow = 1/8

3.0A.D.8

Carolyn used 54 yards of string to make kites. She used 6 yards of string for each kite she made. On each kite she
tied 7 bows. How many bows did Carolyn tie? Write the equation and solve.

Equation b = (54 yd + 6 yd per kite) x 7 bows per kite = 9 kites x 7 bows per kite = 63 bows

Answer 63 bows

3.G.A.2

The mayor wants to divide a wall to hang pictures of the
winners of the annual kite flying contest. There will be 1
part for each of the 12 winners. What are 3 ways the mayor

can divide the wall?

Answers will vary. Accept any reasonable answers. Example:

Make 2 rows of 6 parts.

Make 3 rows of 4 parts.

Make 6 rows of 2 parts.

3.MD.A.2

Target sells 26 Kites a day and Wal-Mart sells 18 kites a
day. How many fewer kites does Wal-Mart sell after 2
days than Target? Write the equation and solve.

Equation f = (26 kites + 26 kites) - (18 kites + 18 kites) 5
52 kites — 36 kites = 16 kites

Answer 16 fewer kites than Target
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(i G5
3.NBT.A.2 3.NFA.2 =4
Use the order of operations to solve the Andy says that point A is at 6/8. Is he correct? S
FO“OWiI'lg equa’rions. Explain. Andy is incorrect because the whole is divided into 4 parts not 8, so =
187 + (217 _ 176) - 198 = 30 the point is located at 5/4. pa IA
1 | | | A+ | | | T o7
372 - (712 - 687) = 347 J I I I | I 1 a
3.0RAL G2
Find the unknown factor for the following equations. =
$=
A x11=33 A\=3 i%u):zf %:24 [Ix10=120 [] =12 -
$=
64 = =8 =8 84 = =12 =7
[-2 [ 0-2 0O R
3GAIL 3.MD.D.8 o
Write how many of each type of angle the shape has. The park where the annual kite flying contest is being
held has an area of 132 square yards. If the length of <&
the park is 12 yards, how wide is the park? Write the 3=
equation and solve. =3
$=
=3
$=
5 right O right 1 right -
0 acute 3 acute 2 acute Equation 132 yd? =12 yd x [ =132 yd? + 12 yd =11 yd a
=3
1 obtuse 3 obtuse O obtuse Answer 11 yards £
You may accept 6 right angles on the first shape and 2 5
pbtuse angles and 4 acute angles on the second shape
depending on it you are going to discuss angles greater than G
© 2013 =3

180 degrees.
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